
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

1 

CF173 
Honda Transalp 750 2023- 

 
Kit for left side: Kit for right side: 

          
ID. Description Cat.No. Pcs.  ID. Description Cat.No. Pcs.  
1 Steel adapter X151 1  1 Steel adapter X123 1  
2 Bolt M10x75x1,25mm 938 2  2 Bolt M10x75x1,25mm 938 2  
3 Nut M10x1,25mm 1071 2  3 Nut M10x1,25mm 1071 2  

4 Bolt M8x20mm 824 2  4 Bolt M8x20mm 824 2  
5 Washer M8-flat 802 3  5 Washer M8-flat 802 3  

6 Dural.roller l=6mm 453 1  6 Dural.roller l=6mm 453 1  

7 Bolt M8x25mm 833 1       

8 Sticker RDmoto   2       

 

 

 

We recommend using medium strength thread glue during assembly. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

2 

Left side : 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

The assembly of the left and right sides is the same. 

First install the steel adapters and then you can install 

the crash frames. For assembly use: steel adapters 

ID.1 + bolts M10x75x1.25mm ID.2 + nuts 

M10x1.25mm ID.3 + bolts M8x20mm ID.4 + 

washers M8 ID.5 

Insert the duralumin roller 

l=6mm ID.6 under the 

footrest holder 

Mount the crash frame 

under the footrest holder 

and use the original bolt  

Use the M8x25mm ID.7 

bolt to connect the crash 

frames 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

3 

Right side : 

 

 

 

 

 

 

 
 

 

 
 

 

 

 

 

 

 

The assembly of the left and right sides is the same. 

First install the steel adapters and then you can install 

the crash frames. For assembly use: steel adapters 

ID.1 + bolts M10x75x1.25mm ID.2 + nuts 

M10x1.25mm ID.3 + bolts M8x20mm ID.4 + 

washers M8 ID.5 

 

Insert the duralumin roller 

l=6mm ID.6 under the 

footrest holder 

 

Mount the crash frame 

under the footrest holder 

and use the original bolt  

 


